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(3) IJmobemó Am{U A§Vami {dkmZ
1) gy¶©‘mbm d J«h
2) A§Vami {dkmZ
3) Bòmo d BVa g§ñWm
4) CnJ«h
5) àjonU ¶§ÌUm d AdH$me¶mZo
6) Xÿag§Mma
7) OrnrEg, OrAm¶Eg
8) n¥Ïdr d dmVmdaU

1) gy¶©‘mbm d J«h
1) gy¶©‘mboVrb ...... J«h gy¶m©nmgyZ ...... {H$.‘r. A§Vamda AgyZ gy¶m©̂ modVr EH$ n[a «̂‘U H$aÊ¶mg Ë¶mbm 88 {Xdg

bmJVmV?
1) ewH«$ 8.8 H$moQ>r 2) ~wY, 5.8 H$moQ>r 3) ‘§Ji, 2.8 H$moQ>r 4) e{Z, 5.2 H$moQ>r

1) ...... planet in solar system found ...... k.m. from sun and takes 88 days to complete one rotation

around sun.

1) Venus, 8.8 crore 2) mercury, 5.8 crore 3) Mars, 2.8 crore 4) Saturn, 5.2 crore

2) boga {H$aU n¥Ïdrdê$Z M§ÐmH$S>o gmoS>ë¶mZ§Va M§ÐmÀ¶m n¥ð>^mJmnmgyZ namd{V©V hmoD$Z n¥Ïdrda naV ¶oÊ¶mg 2.56
goH§$X bmJVmV. Va M§ÐmÀ¶m n¥Ïdr^modVrÀ¶m n[a «̂‘U H$joMr {ÌÁ¶m {H$Vr?
1) 7.68 × 108 ‘r. 2) 76.8 × 105 {H$.‘r.
3) 38.4 × 105 {H$.‘r. 4) 3.84 × 108 ‘r.

2) A laser light beamed at the Moon takes 2.56 s to return to earth after reflection at the Moon's

surface. How much is the radius of the lunar orbit around the Earth?

1) 7.68 × 108 m 2) 76.8 × 105 km

3) 38.4 × 105 km 4) 3.84 × 108 m

3) J«hm§À`m gỳ m©̂ modVr àX{jUm KmcUmè`m {Z`_m§Zm H$m` åhUVmV ?
1) \°$aoS>oMo {Z`_ 2) Ý ỳQ>ZMo JVrMo {Z`_
3) Ho$ßcaMo JVrMo {Z`_ 4) c|PMo {Z`_

3) What are the Laws of revolution of planet around the Sun are called ?

1) Faraday’s Laws 2) Newton’s Laws of motion

3) Kepler’s Laws of motion 4) Lenz’s Law

4) gZ 2006 gmcmZ§Va Imcrcn¡H$s H$moUË¶m J«hmcm/gy¶©‘mcoVrc J«h ‘mZco OmV Zmhr, na§Vw ~Qw>J«h åhUyZ AmoiIÊ¶mV
¶oVo?
1) ~wY 2) ¶waoZg 3) ZonÀ ỳZ 4) ßcyQ>mo

4) Which of the following is not considered as a planet of the solar system but called as a dwarf

planet since the year 2006?

1) Mercury 2) Uranus 3) Neptune 4) Pluto
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5) ßbwQ>moMm M§Ð, em°am± H$dM V¶ma H$ê$Z d ~è¶mMem gm¡admè¶mbm nwZ{X©em XoD$Z Ë¶m J«hmÀ¶m ~’$m©i dmVmdaUmMm åhmg
bjUr¶ à‘mUmV H$‘r H$aV Agmdm. M§ÐmÀ¶m AmH$mam‘wio d Od{iH$s‘wio ßbwQ>moMm M§Ðm~amo~aMm ghg§~§Y hr gy¶©‘mboVrb
EH$ Agm‘mÝ¶ Aer AÝ¶moÝ¶{H«$¶m Amho. ¶m M§ÐmMm ì¶mg ßbwQ>moMm {Zåå¶mZo WmoS>m OmñV Amho d Vmo Ë¶mÀ¶mnmgyZ ’$º$
19,310 {H$‘r A§Vamda Agboë¶m H$joVyZ «̂‘U H$aVmo. n¥ÏdrMm M§Ð ¶mÀ¶m {VnQ>rZo n¥ÏdrÀ¶m Odi Amho d Vmo
‘§JimBVH$m ‘moR>m Amho. gXa ‘m{hVrda AmY[aV Imbrbn¡H$s A¶mo½¶ {dYmZ H$moUVo?
1) An[a{MVmbm n[a{MV H$aUo.
2) Ho$boë¶m Xmì¶m§Zm nmR>~i XoUo.
3) ßbyQ>mo d em°am± ¶m§À¶m ghg§~§Ymbm n[aàoú¶mV KoUo.
4) ßbyQ>mo d em°am± ¶m§À¶m ghg§~§Y {M{ÌV H$am¶bm ‘XV H$aUo.

5) Pluto's moon Charon may be significantly reducing the loss of atmosphere of the icy planet by

creating a shield and redirecting much of the solar wind away. Pluto's relationship with Charon is

one of the more unusual. interactions in the solar system due to the moon's size and proximity.

this moon is more than half of Pluto's diameter and orbits only 19,310 kilometers away. Moon of

the earth is three times closer to the Earth and as large as Mars.

Which one of the following is not True Statement based on this information ?

1) Make unfamiliar familiar.

2) Supports the claim made.

3) Put into perspective Pluto's relationship with Charon.

4) Help to picturize Pluto's relationship with Charon.

6) {díd CËnÎmr g§X^m©Vrc gdmªV OmñV ñdrH$macoco VÎd åhUOo …
1) pñWa {díd 2) pñWa pñWVrdV² {díd
3) _hm{dñ\$moQ> 4) darc VrZhr

6) The most accepted theory of cosmology is :

1) Steady/Static Universe 2) Quasi - Static Universe

3) Big bang theory 4) All the above

7) A§VamimVrc ãc°H$ hmoc H$moUË`mhr àmaUmcm (ao{S>AoeZ) {ZgQy> XoV Zmhr. `mMo H$maU ............ Amho.
1) ãc°H$ hmocMm N>moQ>m AmH$ma 2) ãc°H$ hmocMm _moR>m AmH$ma
3) ãc°H$ hmocMr Iyn OmñV KZVm 4) ãc°H$ hmocMr Iyn H$_r KZVm

7) A black hole is a body in space the does not allow any radiation to escape. This is due to its :

1) very tiny size 2) very large size

3) very high density 4) very low density

8) {dd¥Îmr` «̂_U H$joV EH$ J«h gỳ m©̂ modVr {\$aVmo Amho. gỳ © hm `m H$joÀ`m EH$m Zm{^V Amho. `m J«hmMr _hÎm_ Mmc
H$moUË`m ñWmZmda AgVo ?
1) Ooìhm J«h gỳ m©nmgyZ gJù`mV OmñV A§Vamda Amho 2) Ooìhm J«h gỳ m©nmgyZ gJù`mV H$_r A§Vamda Amho
3) Ooìhm J«h gỳ m©H$S>o òVmo Amho na§Vw Xya Amho 4) H$moUË`mhr _Ü`_ ñWmZmda

8) A planet is revolving in an elliptical orbit with the sun at one of its foci. The speed of the planet is

greatest when it is :

1) Farthest from the sun 2) Nearest from the sun

3) Moving towards the sun but is far away 4) At any intermediate position
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9) J°{c{cAmoM§ IJmocemó YmoH$mXm¶H$ H$m R>ê$ cmJc§ ?
1) Ë¶mcm OÝ‘Hw§$S>ë¶m ‘m§S>Vm ¶oV ZgV

• 2) Ë¶mÀ¶m {ZarjUm§‘wio M§ÐmdaMm ‘mUyg Jm¶~  Pmcm.
3) Ë¶mZ§ ñdm^m{dH$ AW©{ZU©¶Z Ho$c§
4) gÎmmYmar dJm©Z§ J¥hrV Yacoë¶m OJm~m~VÀ¶m H$ënZm§Zm Ë¶mÀ¶m‘wio hmXam ~gcm.

9) Why did the astronomy of Galileo become dangerous ?

1) He could not prepare star charts

2) His observations were responsible for disappearance of man from the moon

3) He offered a natural interpretation

4) He challenged the axioms about the world which the powerful took for granted

10) Imcrcn¡H$s H$moUVo {dYmZ ~amo~a Amho ?
1)  J«hmMm doJ gy¶m©nmgyZ OmñVrV OmñV A§Va AgVmZm gdm©V H$‘r Am{U gy¶m©nmgyZ H$‘rV H$‘r A§Va AgVmZm

gdm©V OmñV AgVmo.
2) J«hm§Mm doJ gy¶m©nmgyZ OmñVrV OmñV A§Va AgVmZm gdm©V OmñV Am{U gy¶m©nmgyZ H$‘rV H$‘r A§Va AgVmZm

gdm©V H$‘r AgVmo.
3) J«hm§Mm doJ gy¶m©nmgyZ OmñVrV OmñV d H$‘rV H$‘r A§Va AgVmZm gmaImM AgVmo.
4) J«hm§Mm doJ gy¶m©nmgyZ OmñVrV OmñV d H$‘rV H$‘r A§Va AgVmZm gdm©V OmñV AgVmo.

10) Which of the following statement is correct ?

1) The speed of  Planet is faster when they are nearer to the sun and slower when they are

farther away from the sun.

2) The speed of  Planet is faster when they are farther from the sun and slower when they are

nearer to the sun,

3) The speed of  Planet is same when they are nearer to the sun or farther away from the sun.

4) The speed of  Planet is faster when they are nearer to the sun or farther away from the sun.

2) A§Vami {dkmZ
1) ........... A§XmOo EH$ {‘{c‘rQ>anojm OmñV Va§JX¡Ü¶© Agboë¶m àmaUm§Mm Aä¶mg H$aVmo.

1) ao{S>Amo IJmobemó 2) Adaº$ IJmobemó
3) Am°pßQ>H$b IJmobemó 4) A{VZrb IJmobemó

1) ............. studies radiation with wavelengths greater than approximately one millimetre.

1) Radio astronomy 2) Infrared astronomy

3) Optical astronomy 4)  Ultraviolet astronomy

3) Bòmo d BVa g§ñWm
1) ^maVmV hdmB© N>m¶m{MÌUmMo H$m‘ Imbrbn¡H$s H$moUVr g§ñWm H$aVo?

a) B§{S>¶Z EAa ’$mog© b) B§{S>¶Z EAa gìh} c) EZ.Ama.Eg.E. d) Am¶.E‘.S>r.
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (a) Am{U (b) 3) darb gd© ~amo~a 4) (a), (b) Am{U (c)
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1) Which of the following agency do aerial Photography Work in India ?

a) Indian Air Force b) Indian Air Survey c) N.R.S.A. d) I.M.D.

Answer options :

1) (a) only 2) (a) and (b) only 3) All are correct 4) (a), (b) and (c)

2) OmJ{VH$ ZopìhJoeZ CnJ«h àUmbrVrb (Or.EZ.Eg.Eg.) ½bmoZmg hm CnJ«h H$moUË¶m XoemMm Amho?
1) A‘o[aH$m 2) a{e¶m 3) MrZ 4) ^maV

2) To which country the GLONASS satellite in the Global Navigation Satellite System (GNSS)

belongs ?

1) America 2) Russia 3) China 4) India

4) CnJ«h
1) ŷpñWa CnJ«h n¥ÏdrnmgyZ gmYmaUnUo {H$Vr C§Mrda pñWa AgVmV ?

1) 1000 {H$.‘r. 2) 36000 {H$.‘r. 3) 3000 {H$.‘r. 4) 100 {H$.‘r.
1) At what approximate height from the Earth, are the geostationary satellites stationed ?

1) 1000 km 2) 36000 km 3) 3000 km 4) 100 km

2) Imbrbn¡H$s H$m¶ {OAmoñQ>oeZar Am°a{~Q> (GEO) Mo AMyH$nUo dU©Z H$aVo?
1) g‘wÐgnmQ>rnmgyZMr C§Mr 20,000 {H$.‘r. d EH$ H$jm n[a «̂‘Umg 12 Vmg bmJVmV.
2) g‘wÐgnmQ>rnmgyZMr C§Mr 36,000 {H$.‘r. d EH$ H$jm n[a «̂‘Umg 24 Vmg bmJVmV.
3) g‘wÐgnmQ>rnmgyZMr C§Mr 400 {H$.‘r. d EH$ H$jm n[a «̂‘Umg 90 {‘{ZQ>o bmJVmV.
4) ¶mn¡H$s Hw$R>bohr Zmhr.

2) Which of the following describes the Geostationary Orbit (GEO) correctly ?

1) Altitude of 20,000 km above the sea level and the orbital period is 12 hours.

2) Altitude of 36,000 km above the sea level and the orbital period is 24 hours.

3) Altitude of 400 km above the sea level and the orbital period is 90 minutes.

4) None of the above

3) Imbrb OmoS>çm ¶mo½¶àH$mao Owidm :
[a‘moQ> gopÝg§J CnJ«h ‘yi Xoe
A) [agmog© g°Q> i) ^maV
~) ñnm°Q> ii) ’«$mÝg
H$) aS>mag°Q> iii) H°$ZS>m
S>) IKONOS iv) USA

n¶m©¶r CÎmao …
(A) (~) (H$) (S>)

1) (i) (ii) (iv) (iii)

2) (iv) (iii) (ii) (i)

3) (iv) (ii) (iii) (i)

4) (i) (ii) (iii) (iv)
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3) Match the pairs :

Remote Sensing satellite Country of Origin

a) Resource sat i) India

b) SPOT ii) France

c) Radarsat iii) Canada

d) IKONOS iv) U.S.A.

Answer options :

(a) (b) (c) (d)

1) (i) (ii) (iv) (iii)

2) (iv) (iii) (ii) (i)

3) (iv) (ii) (iii) (i)

4) (i) (ii) (iii) (iv)

4) Imbrbn¡H$s H$moUVo ì`mdgm{`H$ Cƒ [aPmoë ỳeZ ‘ëQ>rñnoŠQ´b B‘oOar loUrV Zmhr?
1) IKONOS-2 2) IKONOS-3 3) GeoEye-1 4) QuickBird-2

4) Which of the following is not in the category of commercial high resolution multispectral imagery?

1) IKONOS-2 2) IKONOS-3 3) GeoEye-1 4) QuickBird-2

5) {dYmZ (A)  : ‘o 2017 ‘Ü¶o ^maVmZo "X{jU Am{e¶m CnJ«h" ¶m Zì¶m ZmdmZo CnJ«h gmoS>cm, Ë¶mMo nyduMo Zmd "gmH©$
CnJ«h" Ago hmoVo.
H$maU (R) : ¶m CnJ«hmÛmao gmH©$ Xoem§Zm nwadÊ¶mV ¶oUmè¶m godm ñdrH$maÊ¶mg nm{H$ñVmZZo ZH$ma {Xë¶mZo ¶m CnJ«hmÀ¶m
ZmdmV ~Xc H$aÊ¶mV Amcm.
n¶m©¶r CÎmao :
1) (A) Am{U (R) XmoÝhr {dYmZo ~amo~a AgyZ (R) ho (A) {dYmZmMo H$maU Amho.
2) (A) {dYmZ AgË¶ AgyZ  (R) {dYmZ gË¶ Amho.
3) (A) Am{U (R) XmoÝhr {dYmZo AgË¶ AmhoV.
4) (A) {dYmZ gË¶ AgyZ (R) {dYmZ AgË¶ Amho.

5) Statement (A) : In May 2017, India launched the satellite under the new name of 'South Asia

Satellite', its earlier name was 'SAARC Satellite'.

Reason (R): The name of this satellite was changed due to Pakistan's refusal to accept the ser-

vices provided by this satellite to SAARC countries.

Answer Options

1) Both statements (A) and (R) are correct and (R) is the reason for statement (A).

2) (A) The statement is false and (R) The statement is true.

3) Both statements (A) and (R) are false.

4) (A) The statement is true and (R) The statement is false.

6) Imbrbn¡H$s H$moUVo H°$‘oao Am°Z-~moS>© IRS CnJ«hm§À`m ao{S>Amo‘o{Q´H$ [aPmoë ỳeZer `mo½` OwiVmV?
WiF

1) LISS-I 7 {~Q> 2) LISS-I 8 {~Q> 3) LISS-I 8 {~Q> 4) LISS-I 7 {~Q>
LISS-II  7 {~Q> LISS-II 8 {~Q> LISS-II  8 {~Q> LISS-II  8 {~Q>
LISS-III  7 {~Q> LISS-III 8 {~Q> LISS-III  8 {~Q> LISS-III  8 {~Q>
PAN  6 {~Q> n°Z 6 {~Q> PAN 7 {~Q> PAN 6 {~Q>
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6) Which of the following is a correct match of the radiometric resolution of cameras on-board IRS

satellites ?

1) LISS-I 7 bit 2) LISS-I 8 bit 3) LISS-I 8 bit 4) LISS-I 7 bit

LISS-II 7 bit LISS-II 8 bit LISS-II 8 bit LISS-II 8 bit

LISS-III 7 bit LISS-III 8 bit LISS-III 8 bit LISS-III 8 bit

PAN 6 bit PAN 6 bit PAN 7 bit PAN 6 bit

7) IRS-ID LISS-III goÝgaÀ`m dU©H«$‘r` ~±S>Mr Va§Jbm§~r AmhoV …
1) 0.52-0.59 ‘m`H«$m°Z 2) 0.40-0.50 ‘m`H«$m°Z 3) 0.52-0.59 ‘m`H«$m°Z 4) 0.52-0.59 ‘m`H«$m°Z

0.62-0.68 ‘m`H«$m°Z 0.51-0.60 ‘m`H«$m°Z 0.62-0.68 ‘m`H«$m°Z 0.62-0.68 ‘m`H«$m°Z
0.77-0.86 ‘m`H«$m°Z 0.61-0.70 ‘m`H«$m°Z 0.70-0.80 ‘m`H«$m°Z 0.77-0.86 ‘m`H«$m°Z
1.55-1.70 ‘m`H«$m°Z 0.71-1.10 ‘m`H«$m°Z 1.10-1.80 ‘m`H«$m°Z 1.80-2.40 ‘m`H«$m°Z

7) The wavelength of the spectral bands of IRS-ID LISS-III sensor are :

1) 0.52-0.59 microns 2) 0.40-0.50 microns 3) 0.52-0.59 microns 4) 0.52-0.59 microns

0.62-0.68 microns 0.51-0.60 microns 0.62-0.68 microns 0.62-0.68 microns

0.77-0.86 microns 0.61-0.70 microns 0.70-0.80 microns 0.77-0.86 microns

1.55-1.70 microns 0.71-1.10 microns 1.10-1.80 microns 1.80-2.40 microns

8) b±S>g°Q> 1 À`m MSS À`m Va§Jbm§~r ~±S> AmhoV:
1) 0.5-0.6 ‘m`H«$m°Z 2) 0.4-0.5 ‘m`H«$m°Z 3) 0.4-0.5 ‘m`H«$m°Z 4) 0.5-0.6 ‘m`H«$m°Z

0.6-0.7 ‘m`H«$m°Z 0.6-0.7 ‘m`H«$m°Z 0.5-0.6 ‘m`H«$m°Z 0.6-0.7 ‘m`H«$m°Z
0.7-0.8 ‘m`H«$m°Z 0.7-0.8 ‘m`H«$m°Z 0.6-0.7 ‘m`H«$m°Z 0.7-0.8 ‘m`H«$m°Z
0.80-1.1 ‘m`H«$m°Z 0.80-0.88 ‘m`H«$m°Z 0.7-0.8 ‘m`H«$m°Z 1.55 - 1.77 ,‘m`H«$m°Z

8) The wavelength bands of MSS of Landsat 1 are :

1) 0.5-0.6 microns 2) 0.4-0.5 microns 3) 0.4-0.5 microns 4) 0.5-0.6 microns

0.6-0.7 microns 0.6-0.7 microns 0.5-0.6 microns 0.6-0.7 microns

0.6-0.7 microns 0.7-0.8 microns 0.7-0.8 microns 0.7-0.8 microns

0.80-1.1 microns 0.80-0.88 microns 0.7-0.8 microns 1.55 - 1.77 ,microns

9) CnJ«hm§À`m IRS 1A Vo 1D  ‘m{bHo$Vrb goÝgaÀ`m AdH$mer` [aPmoë ỳeZMr `mo½` OwiUr AmoiIm.
1) LISS-I 72.5 ‘r 2) n°Z 2.8 ‘r 3) n°Z 5.8 ‘r 4) Pan 15.8 ‘r

LISS-II 36.25 ‘r LISS-I 72.5 ‘r LISS-I 72.5 ‘r LISS- 72.5 ‘r
WiFS 188 ‘r LISS-II 36.25 ‘r LISS-II  36.25 ‘r LISS-II  36.25 ‘r

WiFS  18.13 ‘r WiFS 18.13 ‘r WiFS 188 ‘r
9) Identify the correct match of spatial resolution of sensor of IRS 1A to 1D series of satellites.

1) LISS-I 72.5m 2) Pan 2.8m 3) Pan 5.8m 4) Pan 15.8m

LISS-II 36.25m LISS-I 72.5m LISS-I 72.5m LISS-I 72.5m

WiFS 188m LISS-II 36.25m LISS-II 36.25m LISS-II 36.25m

WiFS 18.13m WiFS 18.13m WiFS 188m

10) Imbrbn¡H$s H$moUË¶m Ajd¥Îmmda ŷpñWa CnJ«h AdH$memV ñWm{nV H$aÊ¶mV ¶oVmo ?
1) {dfwdd¥Îm 2) H$H©$d¥Îm 3) A§Q>m³Q>uH$ d¥Îm 4) Y«wd

10) Over which of the following latitudes is the Geostationary satellite set?

1) The Equator 2) The Tropic of Cancer

3) The Antaretic Circle 4) The Poles
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11) BÝg°Q>-3S>r (‘oQ´>mog°Q>) hm ^maVmVrb CnJ«h ...... KQ>H$mer g§~§{YV Amho.
1) {ejU 2) g‘wÐ 3) hdm‘mZ 4) gmYZg§nXm

11) INSAT—8D  (Metrosat)  is  an  Indian  satellite  associated  with  the ............  component.

1) Education 2) Sea 3)  Climate 4) Resource

12) ........... Ûmao Ho$bobo n¥ÏdrMo {ZarjU ‘moR>çm joÌmMo g§jo{nV Ñûm` àXmZ H$aVo.
1) dU©H«$‘r` namdV©Z 2) ‘m`H«$modoìh {d{H$aU
3) CnJ«h ßb°Q>’$m°‘© 4) BÝ’«$maoS> ao{S>EeZ Odi

12) Earth observations from ......... provide synoptic view of a large area.

1) spectral reflectance 2) microwave radiations

3) satellite platforms 4) near infrared radiations

13) CnJ«h à{V‘m§dê$Z V`ma Ho$boë`m aofr` ZH$mem‘Ü ò, à‘wI aofoMr loUr ...... nmgyZ Agy eH$Vo.
1) H$mhr {H$bmo‘rQ>a Vo eoH$S>mo {H$bmo‘rQ>a bm§~r 2) H$mhr ‘rQ>a Vo eoH$S>mo ‘rQ>a bm§~r
3) 100 {H$bmo‘rQ>a Vo hOmamo {H$bmo‘rQ>a bm§~r 4) H$mhr ‘rQ>a Vo Xhm {H$bmo‘rQ>a bm§~r

13) In a lineament map prepared from satellite imagery, the Major lineaments can range from .......

1) A few kilometers to hundreds of kilometers in length

2) A few meters to hundreds of meters in length

3) 100 kilometers to thousands of kilometers in length

4) A few meters to Ten Kilometers in length

14) CnJ«hm‘Ü¶o, A§Vamidra hm dOZa{hV AdñWm AZŵ dVmo H$maU ......
A) CnJ«hmÀ¶m AmVrb n¥ð>^mJmH$Sy>Z A§Vamidramda à¶wº$ hmoUmao ~b ho eyÝ¶ AgVo.
~) A§Vamidra d CnJ«hmMm n¥ð>^mJ EH$‘oH$mH$S>o AmH${f©bo OmVmV.
H$) A§Vamidra hm H$moUË¶mhr JwéËdr¶ ~bmZo AmH${f©bm OmV Zmhr.
S>) darbn¡H$s H$moUVohr Zmhr
n¶m©¶r CÎmao …
1) A, ~ Am{U H$ 2) ’$º$ A Am{U ~ 3) ’$º$ A Am{U H$ 4) ’$º$ S>

14) An astronaut in the satellite feels weightlessness because ......

a) the force exerted by the satellite floor on the astronaut is equal to zero.

b) the astronaut and satellite floor are attracted towards each other.

c) he is not attracted by any gravitational force.

d) None of the above

Answer Options :

1) a, b and c 2) Only a and b 3) Only a and c 4) Only d

15) ........... ‘Ü ò XmoZ ‘yb ŷV ^mJ AgVmV: ^mî` Ho$boë`m hdmB© N>m`m{MÌm§Mm qH$dm CnJ«h à{V‘oMm g§J«h, AmoiIë`m
OmUmè`m d¡{eï²>`m§Mo qH$dm AQ>tMo ñnï>rH$aU, Am{U J«m{’$H$ qH$dm eãX dU©Z Oo nwT>o goQ> H$aVo. H$mhr nÕVera arVrZo,
Ë`m d¡{eï²>`m§Mo qH$dm n[apñWVtMo à{V‘m AmoiIÊ`mMo d¡{eï²>`.
1) B‘oO B§Q>a{àQ>oeZ H$s 2) ’$moQ>moJ«m‘
3) Amoìhab°qnJ joÌ 4) pñQ>[aAmo-OmoS>r
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15) A ........... consists of two basics part : A collection of annotated aerial photographs or satellite

image, illustrative of the features or conditions to be identified, and a graphic or word description

that sets forth in some systematic manner, the image recognition characteristic of those features

or conditions.

1) Image interpretation key 2) Photogram

3) Overlapping area 4) Stereo-pair

5) àjonU ¶§ÌUm d AdH$me¶mZo
1) ^maVr¶ AdH$me g§emoYZ g§ñWoZo (ISRO) ~«mPrbMm 'A°‘oPm°{Z¶m-1' hm CnJ«h AdH$memV Ho$ìhm gmoS>bm?

1) 12 Am°JñQ> 2021 2) 19 E{àb 2021
3) 28 ’o$~«wdmar 2021 4) 21 ’o$~«wdmar 2021

1) When did the Indian Space Research Organization (ISRO) launch the Brazillian ‘Amazonia - 1’

satellite into space ?

1) 12 August 2021 2) 19 April 2021

3) 28 February 2021 4) 21 February 2021

2) M§Ð¶mZ-3 Mo EHy$U dñVw‘mZ {H$Vr hmoVo?
1) 2800 {H$.J«°. 2) 3100 {H$.J«°. 3) 3900 {H$.J«°. 4) 4110 {H$.J«°.

2) What was the total mass of Chandrayaan-3 7?

1) 2800 Kg 2) 3100 Kg 3) 3900 Kg 4) 4110Kg

3) Zmgm (NASA)  Zo OJmVrc gdm©V ‘moR>çm Q>o{cñH$moncm H$moUË¶m ZmdmZo A§VamimV àjo{nV Ho$co ?
1) ’$m¶aqdJ Q>o{cñH$mon 2) c|g H$moa Q>o{cñH$mon
3) E³g ‘moa Q>o{cñH$mon 4) Ooåg do~ Q>o{cñH$mon

3)  NASA recently launched the world's largest telescope by which name?

1) Firewing Telescope 2) Lens Core Telescope

3) X More Telescope 4) James Webb Telescope

4) 1999 gmbr A‘o[aHo$À¶m Zmgm ¶m g§ñWoZo "j'-{H$aU Xw~uU AdH$memV gmoS>br. Ë¶mg Imbrbn¡H$s H$moUË¶m ^maVr¶
d¡km{ZH$mMo Zmd XoÊ¶mV Ambo ?
1) gr. ìhr. a‘U 2) E. nr. Oo. AãXþb H$bm‘
3) {dH«$‘ gmam^mB© 4) gw~«‘Ê`‘ M§ÐeoIa

4) NASA’s ‘X-ray telescope launched in 1999 is named after which of the following Indian Scientists?

1) C.V. Raman 2)  APJ. Abdul Kalam

3) Vikram Sarabhai 4) Subrahmanyam Chandrasekhar
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6) Xÿag§Mma
1) gÜ`m hm eãX n¥ÏdrÀ`m n¥ð>^mJmÛmao namd{V©V/CËgO©H$ d¡{eï²>`nyU© BboŠQ´mo‘°¾o{Q>H$ ao{S>EeZ emoYyZ n¥ÏdrMr d¡{eï²> ò

AmoiIÊ`mgmR>r A{YH$ gm‘mÝ`nUo dmnabm OmVmo.
1) ~m`moBÝ’$m°a‘°{Q>Šg 2) namdV©Z
3) [a‘moQ> gopÝg§J 4) CËgO©Z

1) Currently the term is used more commonly to denote identification of earth features by detecting

the characteristic electromagnetic radiation reflected/emitted by earth surface.

1) Bioinformatics 2) Reflection

3) Remote sensing 4) Emission

2) [a‘moQ> gopÝg§J ........ ‘Ü ò ‘hËdmMr ŷ{‘H$m (‘w»` ŷ{‘H$m) ~OmdVo.
A) O‘rZ Am{U ObòmoVm§Mo ‘yë`m§H$Z.
~) ŷOb ApñVËdmV Agbobo joÌ.
H$) nrH$ H$sQ>H$ Am{U amoJm§Mm àmXŵ m©d Am{U àgma `m§Mo {ZarjU H$aUo.
S>) O§JbmÀ`m AmÀN>mXZmMm A§XmO Am{U nrH$ CËnÞmMo ‘yë`m§H$Z.
darbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV/AmhoV?
1) A ’$º$ 2) A Am{U ~ ’$º$ 3) A, ~ Am{U H$ ’$º$ 4) A, ~, H$ Am{U S>

2) Remote sensing plays an important role (pivotal role) in ......

a) assessing the land and water resources.

b) areas of groundwater existence. .

c) monitoring the outbreak and spread of crop pests and diseases.

d) estimation of forest cover and assessing crop yields.

Which of the statements given above is/are correct ?

1) a only 2) a and b only 3) a, b and c only 4) a, b, c and d

3) H¥$fr gd}jUm§‘Ü ò [a‘moQ> gopÝg§JÀ`m {d{eï> dmnamMo joÌ ........ AmhoV.
A) nrH$ gd}jU ~) loUr gd}jU H$) newYZ gd}jU S>) ‘mVr gd}jU
darbn¡H$s H$moUVo n`m©̀  `mo½` AmhoV/AmhoV?
1) A ’$º$ 2) ~ ’$º$
3) A, ~ Am{U H$ ’$º$ 4) A, ~, H$ Am{U S>

3) Areas of specific application of Remote Sensing in agricultural surveys are ........

a) Crop surveys b) Range surveys c) Livestock surveys d) Soil surveys

Which of the options given above is/are correct ?

1) a only 2) b only

3) a, b and c only 4) a, b, c and d

4) [a‘moQ> gopÝg§J‘Ü ò a|O gìh}‘Ü ò Imbrbn¡H$s H$moUVo bmJy Zmhr?
1) dhZ j‘Vm 2) nmÊ`mMo ñWmZ
3) nrH$mVrb Omo‘ 4) dÝ`Ord `mXr

4) In Remote Sensing which of following is not applicable in range survey ?

1) Carrying capacity 2) Location of water

3) Crop vigour 4) Wildlife inventory
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5) [a‘moQ> gopÝg§J, ̂ m¡Jmo{bH$ ‘m{hVr àUmbr Am{U ½bmo~b nmo{PeqZJ {gñQ>r‘ hr gd© e{º$embr V§ÌkmZo AmhoV Or emídV
eoVrbm ............. ñ‘mQ>© nÕVrZo dmT>dVmV.
1) AmYw{ZH$ eoVr 2) emídVVm
3) AMyH$ eoVr 4) H$‘r IMm©Mo V§ÌkmZ

5) Remote Sensing, Geographical Information System and Global Positioning System are all such

powerful technologies which enhance sustainable agriculture towards ............... in a smart way.

1) modern agriculture 2) sustainability

3) precision farming 4) low cost technology

6) Xya{MÌdmUr g§MmMo {g¾c gm_mÝ`V… EH$m {d{eï> A§VamncrH$So> OmD$ eH$V ZmhrV. H$maU -
1) {g¾c Xw~©c Agë`m_wio 2) A±Q>oZm Xw~©c Agë`m_wio
3) hdoV {g¾cMo emofU Pmë`m_wio 4) n¥ÏdrÀ`m dH«$Vo_wio

6) The reason, television signals cannot be received ordinarily beyond a particular distance is due to

the :

1) Weakness of the signal 2) Weak antenna

3) Absorption of signal in the air 4) Curvature of earth

7) nwT>rb {dYZm§Mm {dMma H$am …
a) Xÿag§Mma CnJ«hmMr JVr n¥ÏdrÀ¶m JVrer gmnojnUo eyÝ¶ AgVo.
b) åhUyZ Vmo CnJ«h n¥Ïdrdarb ‘mUgmg pñWa Amho Ago dmQ>Vo.
n¶m©¶r CÎmao …
1) XmoÝhr {dYmZo MyH$ AmhoV.
2) (a) {dYmZ ~amo~a Am{U Vo (b) Mr H$maU{‘‘m§gm Amho.
3) (a) {dYmZ ~amo~a Am{U Vo (b) Mr H$maU{‘‘m§gm Zmhr.
4) (a) ~amo~a na§Vw (b) MyH$ Amho.

7) Consider the following statements :

a) The speed of telecommunication satellite relative to earth is zero

b) Hence it appears to be stationary to a person on the earth.

Answer Options :

1) Both statements are false 2) (a) is true and is reason of (b)

3) (a) is true and is not a reason of (b) 4) (a) is correct, (b) is not

8) H$moUË¶mhr KQ>H$mÀ¶m qH$dm dñVyÀ¶m àË¶j g§nH$m©V Z ¶oVm Ë¶m g§~§YrMr ‘m{hVr {‘idUo, g§H${cV H$aUo d Ë¶mMo dU©Z
H$aUo ¶m V§Ìmg ............. åhUVmV.
1) ’$moQ>moJ«°‘oQ´>r 2) Xÿa g§doXZ
3) OmJ{VH$ ñWmZ {ZpíMVr (GPS) 4) ^m¡Jmo{bH$ ‘m{hVr àUmbr

8) The science and art of acquiring various information about any object from a distance, without

having any physical contact with the object, is known an

1) Photogrammetry 2) Remote Sensing

3) Global Positioning System 4) Geographic Information System
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9) Imbrbn¡H$s H$moUVo Cn¶moOZ ho XÿañW àUmbr Ûmao H$ê$ eH$Vmo ?
a) H¥${f nmUr ì¶dñWmnZ b) nrH$ àUmbr {díbofU
c) ~mJm¶Vr nrH$ joÌ A§XmO Am{U XoIaoI d) nrH$ joÌ Am{U CËnmXZ A§XmO
n¶m©¶r CÎmao …
1) (a), (b) Am{U (c) 2) (b), (c) Am{U (d)

3) (a), (b) Am{U (d) 4) (a), (b), (c) Am{U (d)

9) Which of the following applications can be done using remote sensing technique ?

a) Agricultural water management

b) Cropping system analysis

c) Horticultural crop area estimation and monitoring

d) Crop area estimation and production forecast

Answer Options :

1) (a), (b) and (c) 2) (b), (c) and (d) 3) (a), (b) and (d) 4) (a), (b), (c) and (d)

7) OrnrEg, OrAm¶Eg
1) OrnrEg Ûmao CnbãY hmoUmè¶m  ‘m{hVrMr AMyH$Vm  .......... Amho

1) 100 Vo 0.1 ‘r 2) 100  Vo  0.01 ‘r
3) 1000 Vo 0 0.1 ‘r 4) 10001 Vo 00.01 {‘.‘r.

1) GPS position information has the accuracy in between ...........

1) 100 to 0.1m 2) 100 to 0.01m

3) 1000 to 0.1 m 4) 10001 to 0.01 mm

2) Cƒ [aPmoë ỳeZ g°Q>obmBQ> B‘oO B§Q>a{àQ>oeZgmR>r lò ñH$a Q>monmoJ«m{’$H$b ZH$memMo ñHo$b Amho:
1) 1 : 50,000 Vo 1 : 11,50,000 2) 1 : 50,000 Vo 1 : 2,00,000
3) 1 : 50,000 Vo 1 : 250,000 4) 1 : 50,000 Vo 1 : 3,00,000

2) The preferable topographical map for higher Resolution Satellite image interpretation has a scale

of :

1) 1 : 50,000 to 1 : 11,50,000 2) 1 : 50,000 to 1 : 2,00,000

3) 1 : 50,000 to 1 : 250,000 4) 1 : 50,000 to 1 : 3,00,000

3) ZH$mememór¶ H°$‘oè¶mV hdmB© N>m¶m{MÌUm§Mm AmXe© AmH$ma Imbrbn¡H$s H$moUVm Amho?
1) 23 × 23 go‘r 2) 22 × 22 go‘r 3) 5.9 × 5.9 go‘r 4) 23.5 × 23.5 go‘r

3) Which of the following is the ideal size for aerial photography in a cartographic camera ?

1) 23 × 23 cm 2) 22 × 22cm 3) 59 × 59cm 4) 28.5 × 23.5cm

4) {‘Ï¶m dU© ñdê$n hdmB© N>m¶m{MÌ dmMZmgmR>r {ZamoJr dZñnVrbm H$moUVm a§J dmnabm OmVmo?
1) nm§T>am 2) Jwbm~r 3) bmb 4) H$mim

4) Which colour is used for reading false color composite aerial photographs of healthy plants ?

1) White 2) Pink 3) Red 4) Black
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5) .......... hr EH$ CnJ«h Am{U J«mC§S>-AmYm[aV ao{S>Amo ZopìhJoeZ Am{U bmoHo$eZb {gñQ>r‘ Amho Or dmnaH$Ë`m©bm
n¥ÏdrÀ`m n¥ð>^mJmda A{Ve` AMyH$ ñWmZo {ZYm©[aV H$aÊ`mg gj‘ H$aVo.
1) ^m¡Jmo{bH$ ‘m{hVr àUmbr 2) ½bmo~b nmo{PeqZJ {gñQ>‘
3) [a‘moQ> gopÝg§J 4) aS>ma

5) ................ is a satellite and ground-based radio navigation and locational system that enables the

user to determine very accurate locations on the surface of the earth.

1) Geographical information system 2) Global positioning system

3) Remote sensing 4) Radar

6) n¥ÏdrVimdaVr ApñVËdmV AgUmè¶m ~m~r Am{U Á¶m KQ>Zm KS>V AmhoV Ë¶mMo g§JUrH¥$V gmYZmÛmao aoIm§H$Z Am{U
{díbofU Ho$bo OmVo Ë¶mg ........... Ago g§~moYVmV.
1) ^m¡Jmo{bH$ {ZX}em§H$ (g‘Ýd¶H$) 2) ^m¡Jmo{bH$ ‘m{hVr ì¶dñWm
3) ^m¡Jmo{bH$ g§X ©̂ 4) ^m¡Jmo{bH$ {dñV¥V gm‘J«r

6) .............  is a computer based tool for snapping and analysing things that exist and events that

happen on the Earth.

1) Geographic coordinates 2) Geographic information system

3) Geographic reference 4) Geographic database

7) OrnrEg ............ Zo ~ZVo.
i) nmÊ`mMm I§S> ii) hdm I§S> iii) AdH$me I§S>
iv) ̂ yI§S> v) dmnaH$Vm© {d^mJ
n¶m©¶r CÎmao …
1) (i), (ii) Am{U (v) 2) (ii), (v) Am{U (v) 3) (i), (iv) Am{U (ii) 4) (iii), (iv) Am{U (v)

7) GPS constitutes of ................

i) water segment i) air segment ii) space segment

iv) ground segment v) user segment

Answer options :

1) (i), (ii), and (v) 2) (ii), (v), and (v) 3) (i), (iv), and (ii) 4) (iii), (iv), and (v)

8) ^m¡Jmo{bH$ ‘m{hVr àUmbr (Or.Am¶.Eg.) ‘Ü¶o Imbrbn¡H$s H$moUË¶m KQ>H$m§Mm g‘mdoe hmoVmo ?
a) {S>{OQ>b S>oQ>m b) g§JUH$ hmS>©doAa c) g§JUH$ gm°âQ>doAa d) darbn¡H$s gd©
n¶m©¶r CÎmao …
1) (d) ¶mo½¶ Amho. 2) (a) Am{U (b) ¶mo½¶ AmhoV.
3) (b) Am{U (c) ¶mo½¶ AmhoV. 4) (a) Am{U (c) ¶mo½¶ AmhoV.

8) Geographic  Information  System (GIS) consists of

a) Digital data b) Computer hardware c) Computer software d)  All of the above

Answer Options :

1) (d) is correct 2) (a) and (b) are correct

3) (b) and (c) are correct 4) (a) and (c) are correct

9) H$‘rVH$‘r 4 {d{eï> CnJ«hm§Ûmao {‘iUmè¶m ao{S>Amo g§Xoem§Mo [a{gìhg©Ûmao J«hU H$ê$Z ñWmZ {ZpíMVr H$aUmè¶m
àUmbrbm ............ åhUVmV.
1) [aAb Q>mB©‘ ZopìhJoeZ àUmbr 2) OmJ{VH$ pñWVr àUmbr
3) OmJ{VH$ ‘m{hVr àUmbr 4) OmJ{VH$ àmogoga àUmbr
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9) A location finding system which uses radio receivers to pick up signals from minimum  4 special

satellites  is  called

1) Real Time Navigation System 2) Global Positioning System

3) Global Information System 4) Global Processor System

10) amñQ>a S>oQ>mÀ`m àË òH$ {nŠgobbm dmñV{dH$-OmJ{VH$ {ZX}eH$ qH$dm ^m¡Jmo{bH$ {ZX}eH$ àUmbr {Z ẁº$ H$aÊ`mÀ`m
à{H«$ òbm ................. åhUVmV.
1) [a‘moQ> gopÝg§J 2) {OAmo-ao’$apÝg§J 3) {S>{OQ>m`PoeZ 4) S>oQ>m Q´mÝg’$m°‘}eZ

10) The process of assigning real-world coordinates or geographic coordinate system to each pixel

of the raster data is called ..................

1) Remote sensing 2) Geo-referencing 3) Digitization 4) Data transformation

11) hdmB©{MÌ KoV AgVmZm {d‘mZmÀ¶m WoQ> Imbr O{‘Zrda aofm H$mT>br OmVo {Vbm .......... åhUVmV.
1) O‘rZ aofm 2) Zm{Xa aofm 3) ‘Ü¶ aofm 4) ‘w»¶ aofm

11) The line traced on the ground directly beneath the aircraft during acquisition of photography  is

called  the

1) Ground Line 2) Nadir Line 3) Centre Line 4) Principal Line

12) hdmB© N>m¶m{MÌm§Mo narjU H$aVm§Zm OdiOdiÀ¶m hdmB© N>m¶m{MÌmÀ¶m OmoS>rbm ...... åhUVmV.
1) hdmB© N>m¶m{MÌ 2) ñQ>rarAmoñH$mon 3) nmoV 4) ñQ>rarAmoJ«m‘

12) In interpreting the aerial photograph, the pair of adjacent aerial photographs is called ......

1) Aerial photograph 2) Stereascope 3) Texture 4) Stereogram

13) ìh{Q>©H$b E[a¶b ’$moQ>moJ«m’$sMm dmna H$mQ>m}J«m’$s‘Ü¶o Ho$bm OmVmo. Ë¶mMm Cn¶moJ nwT>rb H$m¶m©gmR>r hmoVmo.
a) ’$moQ>moJ«m‘o{Q´>H$ gd}jU b) {MÌnQ> {Z{‘©Vr
c) ñWbH¥$Vr ZH$meo V¶ma H$aUo d) nm°da bmB©Z VnmgUr
n¶m©¶r CÎmao …
1) (a), (b), (c) Am{U (d) 2) (a), (b) Am{U (c) 3) (a) Am{U (b) 4) (a) Am{U (c)

13) Vertical aerial photography is used in cartography. It is used for the following function.

a) Photogrammetric surveys b) Film making

c) Preparation of Topographical maps d) Power line Inspections.

Which is/are correct answer ?

1) (a), (b), (c) and (d) 2) (a), (b) and (c) 3) (a) and (b) 4) (a) and (c)

14) {d{dY gm‘m{OH$, Am{W©H$ Am{U n`m©daUr` Mbm§‘Yrb g§~§Ym§Mo {díbofU gwb^ H$aÊ`mgmR>r {R>H$mUo qH$dm àXoem§~Ôb
‘m{hVr Am`mo{OV H$aÊ`mgmR>r nÕVeranUo {S>PmBZ Ho$bobo, AdH$mer` AZwH«${‘V Ñï>rH$moZ Amho.
1) GPS 2) GIS 3) RS 4) SPSS

14) Systematically designed, spatially indexed approach for organizing information about places or

regions in order to facilitate analysis of relationships between different social, economic and

environmental variables is .

1) GPS 2) GIS 3) RS 4) SPSS
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15) Am°pßQ>H$b Am{U NIR  ~±S> dmnê$Z NDVI  H$mT>Ê`mgmR>r Imbrbn¡H$s H$moUVr nÕV `mo½` Amho?
1)  NDVI=({hadm - bmb) ({hadm + bmb) 2) NDVI=(NIR - GREEN) (NIR + GREEN)

3) NDV=(NIR + RED) (NIR - RED) 4) NDVI=(NIR - RED) (NIR + RED)

15) Which of the following is the correct method to derive NDVI using the optical and NIR bands ?

1) NDVI=(GREEN - RED) (GREEN + RED) 2) NDVI=(NIR - GREEN) (NIR + GREEN)

3) NDVI=(NIR + RED) (NIR - RED) 4) NDVI=(NIR - RED) (NIR + RED)

16) {S>{OQ>b ’$m°a‘°Q>‘Ü ò [a‘moQ>br goÝñS> A°Zmbm°J S>oQ>mÛmao ^m¡{VH$ n`m©daUm{df`r {dídgZr` ‘m{hVr {‘idÊ`mMr H$bm
Am{U d¡km{ZH$ à{H«$`m Imbrbn¡H$s H$moUVr Amho?
1) [a‘moQ> gopÝg§J 2) gd}jUmMr VÎdo
3) Am°Q>mo‘oQ>oS> S>oQ>m H°$ßMa {gñQ>‘ 4) ’$moQ>moJ«m‘o{Q´H$ VÎdo

16) Which of the following involve art and scientific processes of obtaining reliable information

about physical environment by remotely sensed analog data in digital format ?

1) Remote sensing 2) Surveying principles

3) Automated data capture system 4) Photogrammetric principles

17) Imbrbn¡H$s H$moUVo {dYmZ gË` Amho?
1) gm‘mÝ` {Z`‘ åhUyZ, aS>ma S>oQ>mÀ`m ‘moZmoñH$mo{nH$ {ZarjUmXaå`mZ, Ooìhm gmdë`m {ZarjH$mÀ`m {XeoZo nS>VmV

Voìhm à{V‘m A{YH$ ghOnUo ñnï> Ho$ë`m OmVmV.
2) gm‘mÝ` {Z`‘mZwgma, hdmB© N>m`m{MÌm§À`m ‘moZmoñH$mo{nH$ {ZarjUmXaå`mZ, Ooìhm gmdë`m {ZarjH$mnmgyZ Xya OmVmV

Voìhm à{V‘m A{YH$ ghOnUo ñnï> Ho$ë`m OmVmV.
3) EH$ gm‘mÝ` {Z`‘ åhUyZ, ‘ëQ>rñnoŠQ´b FCC À`m {ZarjUmXaå`mZ, Ooìhm gmdë`m {ZarjH$mnmgyZ Xya OmVmV Voìhm

à{V‘m A{YH$ ghOnUo ñnï> Ho$ë`m OmVmV.
4) gm‘mÝ` {Z`‘mZwgma, hdmB© N>m`m{MÌm§À`m ‘moZmoñH$mo{nH$ {ZarjUmXaå`mZ, Ooìhm gmdë`m {ZarjH$mÀ`m {XeoZo

nS>VmV Voìhm à{V‘m A{YH$ ghOnUo ñnï> Ho$ë`m OmVmV.
17) Which of the following statements is TRUE ?

1) As a general rule, during monoscopic observation of radar data, images are more easily

interpreted when shadows fall towards the observer.

2) As a general rule, during monoscopic observation of aerial photographs, images are more

easily interpreted when shadows fall aways from the observer.

3) As a general rule, during the observation of multispectral FCC, images are more easily

interpreted when shadows fall away from the observer.

4) As a general rule, during monoscopic observation of aerial photographs, images are more

easily interpreted when shadows fall towards the observer.

18) Imbrbn¡H$s H$moUVo {dYmZ TRUE O‘rZ dmna Am{U O‘rZ USGS dJuH$aU àUmbrÀ`m g§X^m©V gË` Amho?
1) [a‘moQ>br goÝñS> S>oQ>m dmnê$Z ñnï>rH$aU AMyH$VoMr {H$‘mZ nmVir {H$‘mZ 85% Agmdr.
2) [a‘moQ>br goÝñS> S>oQ>m dmnê$Z ñnï>rH$aU AMyH$VoMr {H$‘mZ nmVir {H$‘mZ 95% Agmdr.
3) dJuH$aU àUmbr bhmZ joÌm§da bmJy Agmdr.
4) eŠ` Agob Voìhm O{‘ZrMm ’$º$ EH$M dmna AmoiIbm Omdm.
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18) Which of the following statement is TRUE with respect to USGS land use and land cover

classification system ?

1) The minimum level of interpretation accuracy using remotely sensed data should be at least

85%.

2) The minimum level of interpretation accuracy using remotely sensed data should be at least

95%.

3) The classification system should be applicable over small areas.

4) Only single use of land should be recognized when possible.

19) øw[apñQ>H$ JwUmË‘H$ Ñï>rH$moZ, gm§p»`H$s` n[a‘mUmË‘H$ Ñï>rH$moZ Am{U {S>{bQ>a{‘{ZpñQ>H$ Ñï>rH$moZ `m GIS dmnê$Z
{dl²bofU H$aÊ`mgmR>r dmnaë`m OmUmè¶m nÕVr AmhoV.
1) ŷñIbZ 2) ehar dmT>
3) ’$m°ëQ> ‘°qnJ 4) g§̀ wº$ ‘°qnJ

19) Heuristic qualitative approach, statistical quantitative approach and deleterministic approach are

the methodologies used to analyze .......... using GIS.

1) Landslides 2) Urban growth

3) Fault mapping 4) Joint mapping

20) nma§nm[aH$ FCC ~Ôb Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho?
1) ImoQ>çm a§JmÀ`m g§{‘lm‘Ü ò, Cƒ Odi-Adaº$ namdV©H$Vm Agbobo bú` {Zio {XgVmV, Cƒ bmb namdV©Z

Agbobo bú` {hado {XgVmV Am{U Cƒ {hado namdV©Z Agbobo bú` bmb {XgVmV, Aem àH$mao Amnë`mbm
bú`m§Mo ImoQ>o gmXarH$aU {‘iVo.

2) ImoQ>çm a§JmÀ`m g§{‘lm‘Ü ò, Cƒ Odi-Adaº$ namdV©Z Agbobr bú ò bmb {XgVmV, Cƒ bmb namdV©H$Vm
Agbobr bú ò XoIrb bmb {XgVmV, Am{U Cƒ {hadr namdV©H$Vm Agbobr bú ò {Zù`m {XgVmV, Aem àH$mao
Amnë`mbm bú`m§Mo ImoQ>o gmXarH$aU {‘iVo.

3) ImoQ>çm a§JmÀ`m g§{‘lm‘Ü ò, Cƒ Odi-Adaº$ namdV©H$Vm Agbobr bú ò bmb {XgVmV, Cƒ bmb namdV©H$Vm
Agbobr bú ò {hadr {XgVmV Am{U Cƒ {hadr namdV©H$Vm Agbobo bú` {Zio {XgVmV, Aem àH$mao Amnë`mbm
bú`m§Mo ImoQ>o gmXarH$aU {‘iVo.

4) ImoQ>çm a§JmÀ`m g§{‘lm‘Ü ò, Cƒ Odi-Adaº$ namdV©H$Vm Agbobr bú ò bmb {XgVmV, Cƒ bmb namdV©H$Vm
Agbobr bú ò XoIrb bmb {XgVmV Am{U Cƒ {hadr namdV©H$Vm Agbobr bú ò {hadr {XgVmV, Aem àH$mao
Amåhmbm Q>r AmJ}Q²gMo ImoQ>o gmXarH$aU {‘iVo. .

20) Which of the following statement is CORRECT about a conventional FCC ?

1) In a false colour composite, targets with high near-infraed reflectance appear blue, those with

a high red reflectance appear green, and those with a high green reflectance appear red, thus

giving us a "false" presentaiton of the targets.

2) In a false colour composite, targets with high near-infrared reflectance appear red, those with

a high red reflectance also appear red, and  those with a high green reflectance appear blue,

thus giving us a "false" presentation of the targets.

3) In a false colour composite, targets with high near-infrared reflectance appear red, those with

a high red reflectance appear green, and those with a high green reflectance appear blue, thus

giving us a "false" presentation of the targets.

4) In a false colour composite, targets with high near-infrared reflectance appear red, those with

a high red reflectance also appear red, and those with a high green reflectance appear green,

thus giving us a "false" presentation of the t argets.
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21)  GIS, ‘Ü ò, {S>{OQ>m`PoeZ Xaå`mZ, arcsnap g{hîUwVm .............
1) an Mm eodQ> ApñVËdmV Agboë`m Mmn da ñZ°n H$aÊ`mg AZw‘Vr XoVo
2) H$‘mZrMm eodQ> ApñVËdmV Agboë`m {R>H$mUr ñZ°n H$aÊ`mg AZw‘Vr XoVmo
3) an are À`m eodQ> OdiÀ`m AmhoV da ñZ°n H$aÊ`mMr nadmZJr XoVo
4) an Mm ‘Ü`q~Xy ApñVËdmV Agboë`m H$‘mZmda ñZ°n H$aÊ`mg AZw‘Vr XoVo.

21) In GIS, during digitization, arcsnap tolerance .............

1) Allows the end of an are to be snapped to an existing arc

2) Dis-allows the end of an arc to be snapped to an existing are

3) Allows the end of an are to be snapped to the adjacent are

4) Allows the mid-point of an are to be snapped to an existing arc.

22) GIS, ‘Ü ò, ................. hr g§km Á`m dñVy§À`m ^m¡{‘{VH$ d¡{eï²>`m§Mo dU©Z H$aÊ`mgmR>r dmnabr OmVo Or n[adV©Zm§V
~XbV ZmhrV Am{U g‘Ýd` àUmbrnmgyZ ñdV§Ì AmhoV.
1) {OAmoH$moqS>J 2) Q>monmobm°Or 3) {J«S> 4) {deofVm

22) In GIS, ................. is the term used to describe the geometric characteristics of objects which do

not change under transformations and are independent of an co-ordinate system.

1) Geocoding 2) Topology 3) Grid 4) Attribute

23) Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho ?
1) Omir gm§p»¶H$s à{V‘mZmV ‘yb ŷV aMZmI§S> ho ñdV§Ì Omio AgVo.
2) g{Xe gm§p»¶H$s¶ à{V‘mZmV ‘yb ŷV aMZmI§S> ho ñdV§Ì Omio AgVo.
3) g{Xe gm§p»¶H$s¶ à{V‘mZmV {ZpíMV gr‘m Xe©{dVm ¶oVmV.
4) Omir gm§p»¶H$s¶ à{V‘mZmV ñWmZm§Mr pñWVr ñnï> Xe©{dVm ¶oVo.

23) State which of the following statements is true?

1) In the raster data model, the basic building block is the individual cell.

2) In the vector data model, the basic building block is the individual cell.

3) In the vector data model, well-defined boundaries are represented.

4) In the vector data model, locations are well represented.

8) n¥Ïdr d dmVmdaU
1) VoOñdr gỳ ©àH$memÀ`m {Xder gỳ m©Ûmao {H$aUmoËgJ© hmoUmar D$Om© gw‘mao ............ AgVo.

1) 2.5 kw/m2 2) 1.0 kw/m2 3) 500 kw/m2 4) 200 kw/m2

1) The energy radiated by sun on a bright sunny day is about .............

1) 2.5 kw/m2 2) 1.0 kw/m2 3) 500 w/m2 4) 200 w/m2

2) 670 Ajd¥Îmmda gm¡aeº$s {‘iÊ¶mMm H$mbmdYr {H$Vr AgVmo ?
1) 13 {Xdg 2) 20 {Xdg 3) 1 ‘{hZm 4) 3 ‘{hZo

2) What is the duration of solar energy received at 67° latitude ?

1) 13 days 2) 20 days 3) 1 month 4) 3 months
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3) O{‘ZrnmgyZ dmVmdaUmÀ`m {eIamn ª̀V hdoÀ`m ñV§̂ mVrb AmoPmoZMr OmS>r ...... Zo ‘moObr OmVo.
1) nmñH$b ẁ{ZQ> 2) S>m°ãgZ ẁ{ZQ> 3) A±½ñQ´m°‘ ẁ{ZQ> 4) S>o{g~b ẁ{ZQ>

3) The thickness of ozone in a column of air from the ground to the top of atmosphere is measured

in term of ......

1) Pascal unit 2) Dobson unit 3) Angstrom unit 4) Decibel unit

4) n¥ÏdrÀ¶m Xa Mm¡ag go§{Q>‘rQ>a n¥ð>^mJmda Xa {‘{ZQ>mg 1.94 H°$bar gm¡a D$Om© {‘iVo Ë¶mg H$m¶ åhUVmV?
1) gm¡a pñWanX 2) CîUVm g§VwbZ 3) ŷYdbVm 4) ¶mn¡H$s Zmhr

4) The Earth's surface receiving 1 94 calories solar energy per sq. cm. per minute is called

1) Solar Constant 2) Heat Balance 3) Albedo of the Earth 4) None of these

5) Imbrbn¡H$s H$moUVr nÕV n¥Ïdr Am{U J«h ¶m§À¶m‘Yrb A§Va ‘moOÊ¶mgmR>r dmnaVmV ?
1) n°a°b°³g nÕVr 2) S>m¶ao³Q> {S>ñQ>Ýg ‘mnZ
3) ñbmon Q>°ntJ nÕVr 4) BH$mo nÕVr

5) Which of the following methods is used for measurement of distance between Earth and planets?

1) Parallax method 2) Direct distance measurement

3) Slope tapping method 4) Echo method

6) namd{V©V hmoUmè`m gm¡a D$O}Mo à‘mU qH$dm òUm`m© gm¡a {H$aUmoËgJm©Mo namdV©Z JwUm§H$ ................ åhUVmV.
1) gỳ ©{H$aU 2) Aë~oS>mo 3) AndV©H$ {ZX}em§H$ 4) darbn¡H$s Zmhr

6) The proportion of incident solar energy that is reflected or the reflection coefficient for incoming

solar radiation is called ................

1) Sunrays 2) Albedo 3) Refractive index 4) None of the above

7) n¥ÏdrÀ¶m dmVmdaUmÀ¶m ...... ^mJmV dmVmdaUmVrb EHy$U hdoÀ¶m gw‘mao 70% ^mJ AgVmo.
1) ñQ´>oQ>mopñ’$¶a 2) ‘ogmopñ’$¶a 3) Wa‘mopñ’$¶a 4) Q´>monmopñ’$¶a

7) The part of the Earth’s atmosphere contains about 70% of the total air in the atmosphere.

1) Stratosphere 2) Mesosphere 3) Thermosphere 4) Troposphere

8) "Ho$Zobr hodrgmB©S>' ¶m CnWamMm g‘mdoe ........... ‘Ü¶o hmoVmo.
1) Vnm§~a 2) pñWVm§~a 3) Xbm§~a 4) ~møm§~a

8) The 'Kennelly Heaviside' sublayer consists in ............ layer.

1) Troposphere 2) Stratosphere 3)  lonosphere              4) Exosphere

9) W‘m}pñ’$`aÀ`m ImbÀ`m Wambm .................... Agohr åhUVmV.
1) Q´monmopñ’$`a 2) Am`Zmopñ’$`a 3) W‘m}pñ’$`a 4) ‘ogmopñ’$`a

9) The lower layer of thermosphere is also known as ....................

1) Troposphere 2) Ionosphere 3) Thermosphere 4) Mesosphere

10) dmVmdaU Am{U n¥ÏdrÛmao BÝ’«$maoS> D$O}À`m emofUmbm ......... åhUVmV.
1) BÝgwboeZ 2) emofU 3) h[aVJ¥h n[aUm‘ 4) CËgO©Z

10) The absorption of infrared energy by the atmosphere and the Earth is called ..........

1) insulation 2) absorption 3) greenhouse effect 4) emission
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11) .......... òUmè`m gm¡a {H$aUmoËgJm©gmR>r ‘moR>çm à‘mUmV nmaXe©H$ Amho.
1) hdm‘mZ 2) dmVmdaU 3) hdm‘mZ 4) AmH$me

11) ............ is largely transparent to incoming solar radiation.

1) Weather 2) Atmosphere 3) Climate 4) Sky

12) g_Om n¥ÏdrÀ`m g^modVmcr dmVmdaU ZgVo Va {XdgmMm H$m ©̀H$mi …
1) H$_r Pmcm AgVm 2) H$mhrM ~Xc Pmcm ZgVm
3) dmT>cm AgVm 4) Odinmg AYm© Pmcm AgVm

12) If there were no atmosphere, the length of the day would :

1) decrease 2) remain unaffected

3) increase 4) be almost half

13) Imbrb {Xboë¶m {dYmZm§n¡H$s, H$moUVr {dYmZo gm¡a D$O}gmR>r Iar AmhoV ?
a) à^mdrnUo H$m~rO Ho$ë¶mg, gm¡a D$Om© ^maVmVrb EHy$U drO Amdí¶H$VoMr n[anyU©Vm H$ê$ eH$Vo.
b) gm¡a D$Om© ñd¶§nmH$ AZwà¶moJmgmR>r Cn¶wº$ Zmhr.
c) gm¡a D$Om© àH$me AZwà¶moJmgmR>r Cn¶wº$ Amho.
d) gm¡a D$Om© n¶m©daU AZwHy$b Amho.
n¶m©¶r CÎmao …
1) (a), (c) Am{U (d) 2) (a), (b) Am{U (c) 3) (a), (b) Am{U (d) 4) (b), (c) Am{U (d)

13)  Which among the following statements are true for solar energy ?

a) Solar energy can meet the entire India's power requirement if captured effectively.

b) Solar energy is not useful for cooking applications.

c) Solar energy is useful for lighting applications.

d) Solar energy is environment friendly.

Answer Options :

1) (a), (c) and (d) 3) (a), (b) and (d) 2) (a), (b) and (c) 4) (b), (c) and (d)
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CÎmao … (3) IJmobemó Am{U A§Vami {dkmZ

1) gy¶©‘mbm d J«h
1-2 2-4 3-3 4-4 5-2 6-3 7-3 8-2 9-4 10-1

2) A§Vami {dkmZ
1-1

3) Bòmo d BVa g§ñWm
1-4 2-2

4) CnJ«h
1-2 2-2 3-4 4-2 5-1 6-1 7-1 8-1 9-1 10-1
11-3 12-3 13-1 14-4 15-1

5) àjonU ¶§ÌUm d AdH$me¶mZo
1-3 2-3 3-4 4-4

6) Xÿag§Mma
1-3 2-4 3-4 4-3 5-3 6-4 7-2 8-2 9-4

7) OrnrEg, OrAm¶Eg
1-2 2-3 3-1 4-3 5-2 6-2 7-4 8-1 9-2 10-2
11-2 12-4 13-4 14-2 15-4 16-4 17-4 18-1 19-1 20-3
21-1 22-2 23-x

8) n¥Ïdr d dmVmdaU
1-2 2-3 3-2 4-1 5-1 6-2 7-4 8-3 9-2 10-3
11-2 12-2 13-1


